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RHT 23 36 59 35
5 AR BT 24 27 51 26
KHET 69 78 147 72
L FRET 45 44 89 38
T#THET 36 34 70 25
5 ET 51 52 103 51
LT 55 66 121 68
R eh/HT 133 139 272 134
o /ET 41 69 110 65
Farh /HT 133 132 265 140
A R ET 66 78 144 60
AL R HET 127 137 264 123
ERmiTHT 148 153 301 122
AE—TH 125 149 274 133
NE=TH 53 58 111 51
NE=TH 72 89 161 73
AEMTH 101 117 218 113
NEERTH 81 86 167 88
MEC/NTH 85 118 203 101
RNEATEI 36 50 86 50
&/ —HT 37 47 84 40
&/ —HT 69 104 173 90
&/ BT 114 136 250 114
SR [ HT 277 269 546 228
75 ] ET 382 368 750 323
R AL ET 107 100 207 94
7 [ T 141 174 315 137
&~ ELET 155 130 285 104
At R BT 79 89 168 69
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A E 352 320 672 290
BN 58 70 128 68
FLETE 79 69 148 78
&/ =HT 56 67 123 58
DDOLME 73 109 182 116
SENE 508 500 1,008 423
[LZEHT 206 249 455 193
mXHBEKEE 296 218 514 170
ITTHREOER 4,493 4,731 9,224 4,163
BRF0 (24B78%)
T HNET 23 26 49 22
ZEMm 43 63 106 49
T EET 58 62 120 53
izli) 66 77 143 72
SFHT 71 72 143 64
Y EmET 110 129 239 124
FIATHET 601 572 1,173 494
BRARHT 69 76 145 71
FaAET 202 226 428 216
AN ET 93 122 215 102
AT —X 140 137 277 127
RPE 225 232 457 210
CE3S 161 170 331 165
b A7 ) gt 3 239 262 501 223
T&RE 326 326 652 276
BPE 171 183 354 150
PRk 124 165 289 132
RPE 106 112 218 98
[EchfE EET 513 501 1,014 506
& HTHT 558 541 1,099 488
FRFOERET 377 411 788 326
JE R HET 197 220 417 149
tEE—K 208 266 474 231
tEE-K 332 293 625 274
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_ TBRREOasE 5013 5244 10,257 4,622
e TRy
N 62 69 131 52
18 78 80 158 71
= A 71 68 139 61
KN 500 496 996 471
YE 185 179 364 161
R 275 263 538 243
N AT 154 159 313 122
B4 i 229 201 430 237
0O 322 334 656 350
RYE 341 264 605 341
RINETE 103 111 214 89
BN Sy R 287 279 566 268
ANy B 141 124 265 118
thasrE 180 194 374 158
A YE 209 222 431 176
arE 142 176 318 196
_ TBRREOaE 3279 3219 6,498 3,114
EHB (MMBAE
T BmET 201 205 406 157
AITH 677 703 1,380 595
IRy B 148 250 398 168
RIEEEFHET 376 383 759 375
MELE 165 195 360 146
Nt 217 223 440 186
LiskE==tad:) 557 597 1,154 525
A E P T 186 227 413 204
T ERETETE 746 767 1,513 621
TERETETR 339 328 667 325
T EREET 403 391 794 368
_ TBRREOasE 4,015 4,269 8,284 3,670
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* 207 214 421 176
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AR 960 1,026 1,986 817
BF 307 341 648 274
89 105 194 77
FH 137 166 303 129
R EFHT 248 262 510 231
ER{EMT 149 187 336 146
7+ EFET 159 193 352 131
TBRREDEE 2,256 2,494 4,750 1,981
7% CI=P=E=
K ith 3fx BT 319 307 626 261
rh 3z T 235 187 422 147
R LIHET 157 150 307 100
F EFHT 724 730 1,454 542
BEMNE 525 508 1,033 320
ITTHREOER 1,960 1,882 3,842 1,370
= (4BB=
Fhrh 106 120 226 95
AR 224 271 495 202
ENA 23 36 59 28
LEF O 21 33 54 27
TRROEE 374 460 834 352
RE3 (8BBA=
i 302 339 641 294
L 186 199 385 159
T 107 127 234 97
sk Sioib:u) 59 83 142 84
as 185 182 367 172
A ED 119 97 216 97
ZFH 47 41 88 42
=& 102 104 206 88
TBRREDEE 1,107 1,172 2,279 1,033
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L5 384 382 766 348
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T 65 64 129 52
P=Fs 244 233 477 185
HERE 68 78 146 56
MAF 80 83 163 52
N 97 100 197 94
tE3:1 177 193 370 144
LI 43 45 88 37
%Iz 41 56 97 41
SR 186 198 384 155
+H 131 160 291 123
HE 339 324 663 308
= 129 106 235 118
IEERF 405 428 833 315
s 47 58 105 45
= 49 47 96 37
sD0ETE 70 55 125 52
MLDKE 854 920 1,774 703
B FEHET 165 165 330 134
FoAEILX 137 122 259 79

THREOER 3,711 3,817 7,528 3,078
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TXi# 54 56 110 50
—E 12 13 25 11
EFN 18 21 39 17
& 57 89 146 58
24 185 199 384 170
ax 35 39 74 31
BT 37 46 83 38
R 8 9 17 8
ITHEROER 406 472 878 383
2= (138AE

ai5 70 65 135 52
il 120 105 225 98
it 13 23 36 14
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Jeil 39 42 81 34
IME 43 41 84 38
TF 20 22 42 20
=R 17 19 36 23
Bd 37 40 77 34
87K 52 62 114 48
HE 64 60 124 49
AR 111 134 245 105
HER 98 116 214 103
*¥/8 238 219 457 136
ITHREOER 922 948 1,870 754
ERAER CI=P=E=
FR 126 149 275 129
L% 42 54 96 43
k3 32 37 69 36
YR s 20 26 46 25
=& 147 200 347 154
hHE 61 71 132 61
=1o 47 42 89 39
IF#&3F 17 22 39 16
= 7 10 17 7
TR EE 499 611 1,110 510
=VAUN:l 9BB=
SH 43 43 86 37
FRE{CH 28 32 60 28
Tith 71 81 152 70
thith 31 32 63 32
BIEF 58 71 129 51
AALLA 41 47 88 38
5 48 57 105 40
OB 46 60 106 43
FHEFILEA 37 38 75 33
TBREOEE 403 461 864 372
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ZR™ 126 139 265 122
KHE®M 134 146 280 125
FHIt 95 96 191 84
ik /N 355 354 709 279
RHE 697 702 1,399 565
mD& 373 388 761 310
=11 100 98 198 86
PN 54 108 88 196 101
B 352 AT 630 623 1,253 436
TBRREDEE 2,618 2,634 5,252 2,108
I3ll= EEs
Frit 245 232 477 187
SR 123 146 269 114
+= 16 14 30 16
A i 68 70 138 58
+=K 25 32 57 32
PN 26 28 54 24
T/NHE 71 74 145 66
/N 27 29 56 27
= 28 36 64 30
il N 68 62 130 61
PN 77 79 156 63
TBREOEE 774 802 1,576 678
A& (TBAE
BE AR 113 145 258 102
Ba 61 56 117 54
=i 17 16 33 18
FH 0 34 37 71 35
AXER#H 22 22 44 26
RS EFET 168 187 355 152
i 56 56 112 45
TBRREDEE 471 519 990 432
= (BEBER)
—)= 108 110 218 94
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BE 34 24 58 22
= 12 15 27 10
BT 15 19 34 18
TiEAR 41 41 82 36
FiEAR K 13 20 33 21
LiEAR 49 54 103 54
% 24 21 45 24
TR D& 296 304 600 279
gl (7BB=
RKE—X 37 38 75 42
RKE_X 44 35 79 41
TH%E 26 30 56 25
RH 14 19 33 18
B 17 18 35 19
ITH 34 48 82 41
KkE 43 44 87 42
TR EE 215 232 447 228
ElR (1BA%)
= 129 150 279 128
ITHEROER 129 150 279 128
T (1BAR)
T 806 319 1,125 1,120
ITTHREOER 806 319 1,125 1,120
[BHETDOEET 33,747 34740 68,487 30,375
|H =F0H#T
%R (6BBR)
HRT— 113 125 238 103
HZRERTZ 67 73 140 73
#IRA 149 163 312 117
=Y 49 46 95 34
R 69 74 143 67
x5 140 145 285 116
ITHREOER 587 626 1,213 510
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R CI=p=E=
FiEE /N 24 25 49 22
H/ & 8 9 17 7
R H 80 92 172 85
it 131 119 250 97
F®R 284 278 562 321
FE 61 72 133 64
B 48 50 98 48
= 217 247 464 203
G 46 44 920 38
TERROEE 899 936 1,835 885
ne (6BB=
KR 58 74 132 64
=] 57 68 125 55
& 79 81 160 78
[0 50 63 113 52
TH& 57 58 115 59
hnF 7 6 13 7
TBRREDEE 308 350 658 315
[BHETD & &t 1,794 1,912 3,706 1,710
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THRAEH (78RS
= 20 15 35 14
A 14 18 32 17
GiERE] 22 21 43 26
2R 15 18 33 19
GiEEA 21 22 43 20
EH 21 20 41 20
/N 6 12 18 13
SHEq 79 96 175 65
H#H 77 89 166 70
THET 87 94 181 74
LHT 44 57 101 44
A 33 37 70 22
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B 44 42 86 30
[] 121 128 249 112
EFE 29 36 65 25
FFIR 23 23 46 19
TFIR 52 61 113 56
ITHREOER 708 789 1,497 646
RRAET CI=P=E=
HE& 88 89 177 79
X 53 68 121 49
=1 77 79 156 58
KBF 79 86 165 66
ING 80 93 173 74
ITTHREOER 377 415 792 326
ERAE (248A%
F9iE 78 80 158 60
2la 83 82 165 58
g 50 60 110 43
&8 1 2 3 3
N 19 24 43 17
5 18 21 39 15
FaiE 42 45 87 31
= iE 21 27 48 17
RE 20 21 41 18
F& 14 20 34 17
FH 55 68 123 54
LET 16 26 42 17
=5 27 20 47 22
PRI= 30 40 70 30
HAE 30 27 57 26
IR 18 15 33 16
5 10 12 22 12
A& 5 4 9 5
FE 45 56 101 41
KE 25 36 61 32
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KR 40 49 89 34
LINCT] 59 68 127 52
Bk IR 7 11 18 8
B"RAE 7 5 12 5
ITHREOER 720 819 1,539 633
BT ET D& &t 1,805 2,023 3,828 1,605
|B R THET
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+% 82 64 146 52
RE 55 70 125 50
EE 199 244 443 167
£/ 28 31 59 29
TET 108 130 238 107
R 98 120 218 89
BK 66 68 134 57
EHT 55 62 117 51
TR D& 691 789 1,480 602
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< 50 47 97 52
ER 13 15 28 15
dtlR 6 5 11 7
NE 39 43 82 37
—R— 49 71 120 69
—R= 34 34 68 28
Zg= 54 60 114 39
EEF 18 20 38 15
XHERN 111 124 235 107
RS 14 20 34 23
ITHREOER 388 439 827 392
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e 70 68 138 55
NG 7 6 13 9
/NEH 40 36 76 39
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A i 10 15 9
YNE 124 235 90
TR D& 233 244 477 202
eI (9ETAR)
FIR 39 35 74 33
B0 63 68 131 49
R 51 55 106 36
REB 16 20 36 18
wiE 28 44 72 29
£ H 19 21 40 23
FaED 52 61 113 44
5| 52 46 08 34
BEfJ—2Eel 117 109 226 76
TR D& 437 459 896 342
At (BEBR)
R — 45 41 86 29
[ 49 59 108 47
= 44 57 101 46
T 35 40 75 32
— 49 57 106 41
= 30 33 63 25
= 24 25 49 17
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BT GEBER)
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